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QUESTION 1

Which command provides detailed information about the components that are installed on a router, such as the model,
PID, and serial number? 

A. show chassis 

B. show items 

C. show inventory 

D. show router 

Correct Answer: C 

 

QUESTION 2

Which two commands are valid for copying a saved configuration to RAM? (Choose two.) 

A. copy startup-config running-config 

B. copy running-config startup-config 

C. copy tftp running-config 

D. copy running-config tftp 

E. copy tftp startup-config 

Correct Answer: AC 

 

QUESTION 3

Which two pieces of information are displayed when you use the show ip interface brief command? (Choose two.) 

A. Layer 2 address 

B. keepalive 

C. Layer 3 address 

D. encapsulation type 

E. interface status 

Correct Answer: CE 

 

QUESTION 4
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An Ethernet interface is up and the line protocol is down. What are two possible causes? (Choose two.) 

A. There is a speed or duplex mismatch with the remote device. 

B. There is a Layer 2 mismatch in the encapsulation type. 

C. The Ethernet interface has been manually disabled. 

D. Keepalives are not being received by the local device. 

E. The Ethernet cable might not be attached properly. 

Correct Answer: AB 

 

QUESTION 5

Which two IPv4 addresses can be assigned to a host computer? (Choose two.) 

A. 255.255.255.255 

B. 10.1.1.20 

C. 0.0.0.0 

D. 192.168.10.15 

E. 292.10.3.4 

Correct Answer: BD 
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